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fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 100

General Instuctions :
(i) Answer all the questions. Marks are indicated against each question.
(ii)      Answers to questions carrying 2 marks should not exceed 30 words each.
(iii)     Answers to questions carrying 5 marks should not exceed 100 words each.
(iv)    Answers to questions carrying 8 marks should not exceed 250 words each.
(v)     Attach the maps with the answer scripts.
(vi)     Stencils or templates for drawing outline maps may be used wherever necessary.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) lHkhlHkhlHkhlHkhlHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad mlds lkeus fy[ks gSaA

(ii) 22222 vad okys izR;sd iz'u dk mÙkj 3030303030 'kCnksa ls vf/kd u gksA

(iii) 55555 vad okys izR;sd iz'u dk mÙkj 100100100100100 'kCnksa ls vf/kd u gksA

(iv) 88888 vad okys izR;sd iz'u dk mÙkj 250250250250250 'kCnksa ls vf/kd u gksA

(v) ekufp=k viuh mÙkj&iqfLrdk ds lkFk layXu dhft,A

(vi) tgk¡ dgha vko';d gks LVSaflyksa vFkok lkapksa dks js[kk&ekufp=k cukus ds fy, bLrseky fd;k
tk ldrk gSA

MODERN INDIA

vk/kqfud Hkkjrvk/kqfud Hkkjrvk/kqfud Hkkjrvk/kqfud Hkkjrvk/kqfud Hkkjr

1. Explain one main consequence of the Battle of Buxar (1764) on the Mughals in India. 2

cDlj dh yM+kbZ ¼1764½ ls Hkkjr esa eqxyksa ij iM+s ,d izeq[k ifj.kke dh O;k[;k dhft,A

Roll No.

Series SHC Code  No. 61/1
� Please check that this question paper contains 8 printed pages + 3 Maps.
� Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the condidate.
� Please check that this question paper contains 23 questions.

� Please write down the serial number of the question before attempting it.

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 8+3 ekufp=k gSaA

� iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 23 iz'u gSaA

� Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-



261/1

2. Explain any one reason for the Partition of Bengal in 1905. 2
1905 esa caxky ds foHkktu dk dksbZ ,d dkj.k Li"V dhft,A

3. What is meant by ‘equality before law’ as enshrined in the Indian Constitution ? 2
Hkkjrh; lafo/kku esa izfr"Bkfir ^dkuwu ds le{k lekurk* dFku dk D;k vk'k; gS\

4. In what way did the attitude of racial superiority of the British contribute to the Revolt
of 1857 ? Mention any three other causes of the Revolt. 2+3=5

OR

Who were the Sepoys during the Company’s rule ? What were the main causes of their
revolt in 1857 ? 2+3=5

1857 ds fonzksg esa vaxzst+ksa ds tkrh; Js"Brk ds n`f"Vdks.k us fdl izdkj ;ksxnku fn;k\ fonzksg ds
fdUgha rhu vU; dkj.kksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

daiuh 'kklu ds nkSjku flikgh dkSu Fks\ 1857 esa muds fonzksg ds izeq[k dkj.k D;k Fks\

5. Explain  three   main  features   of the   Councils  Act  of  1861.   State   whether  the  Act
represented the Indian opinion or not. Give two points. 3+2=5

OR

Why was the Treaty of Yandabo signed ? Explain three main provisions of the treaty.  2+3=5

1861 ds dkmafly vf/kfu;e ¼dkmaflYl ,sDV½ dh rhu izeq[k fo'ks"krkvksa dh O;k[;k dhft,A
fyf[k, fd D;k ;g vf/kfu;e Hkkjrh; tuer dk izfrfuf/kRo djrk Fkk ;k ughaA nks fcUnq nhft,A

vFkokvFkokvFkokvFkokvFkok

;ankcks dh laf/k ij D;ksa gLrk{kj fd, x,\ bl laf/k ds rhu izeq[k izko/kkuksa dks Li"V dhft,A

6. When and by whom was the Brahmo Sabha founded ? Explain any three ideas of the
Sabha. 2+3=5

OR

When  and  by whom was the Theosophical  Society started  in India  ?  Explain three
main objectives of the Society. 2+3=5

czã lHkk dh LFkkiuk dc vkSj fdlds }kjk dh xbZ\ bl lHkk ds fdUgha rhu fopkjksa dh O;k[;k
dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr esa fFk;kslksfQdy lkslkbVh dh LFkkiuk dc vkSj fdlds }kjk dh xbZ\ lkslkbVh ds rhu izeq[k
mís';ksa dh O;k[;k dhft,A

7. Critically examine the reasons for the change in the British attitude towards India
after the Second World War. Explain two main developments which reflected this
attitude.  that it is neither a king nor a heart.                                                                                                                  3+2=5

f}rh; fo'o ;q) ds ckn Hkkjr ds izfr baXySaM ds joS;s esa vk, ifjorZu ds dkj.kks a dh
vkykspukRed leh{kk dhft,A ,slh nks eq[; ?kVukØeksa dh O;k[;k dhft, ftuesa ;g joS;k
>ydrk gksA
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8. Analyse the developments which led to the passing of the ‘Purna Swaraj’ resolution by
the Congress. 5

mu ?kVukØeksa dk fo'ys"k.k dhft, tks dkaxzsl }kjk ^iw.kZ Lojkt* dk izLrko ikfjr djus dk dkj.k
cusA

9. When was the French East India Company founded ? Describe its relations with
Karnataka and Hyderabad. Mention any three reasons which prevented its growth in
India. 1+4+3=8

OR

Briefly describe the main features of the British economic policy in India during the
Company’s rule. When and after which specific development did the Company’s rule
come to an end ? 5+1+2=8

Ýkal dh bZLV bafM;k daiuh dh LFkkiuk dc gqbZ\ dukZVd vkSj gSnjkckn ds lkFk mlds laaca/kksa dk
o.kZu dhft,A Hkkjr esa bldk fodkl vo#) djus okys fdUgha rhu dkj.kksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

daiuh 'kklu ds nkSjku Hkkjr esa fczfV'k vkfFkZd uhfr dh izeq[k fo'ks"krkvksa dk la{ksi esa o.kZu dhft,A
dc vkSj fdl fof'k"V ?kVukØe ds ckn daiuh 'kklu dh lekfIr gqbZ\

10. Explain the growth of communalism in India during the first half of the 20th century and
examine the efforts of the nationalist movement to check it. 6+2=8

OR

Explain the contribution of the ‘Rediscovery of India’s Past’ to the rise of nationalism in
the late 19th   century. Examine any one shortcoming of such a rediscovery of the past.6+2=8

chloha 'krkCnh ds iwokZ)Z esa Hkkjr esa lkaiznkf;drk dh o`f) dks Li"V dhft, vkSj bls jksdus ds fy,
jk"Vªoknh vkanksyu ds iz;klksa dh leh{kk dhft,A

vFkokvFkokvFkokvFkokvFkok

méhloha 'krkCnh ds var esa jk"Vªokn ds mn; esa ^Hkkjr ds vrhr dh iqu% [kkst* dh Hkwfedk dh O;k[;k
dhft,A vrhr dh ,slh iqu% [kkst dh fdlh ,d det+ksjh dh leh{kk dhft,A

11. When and by whom was the Champaran Satyagraha launched ? Explain where did
Gandhiji initially evolve the principle of Satyagraha. Mention two achievements of the
Champaran Satyagraha. 2+4+2=8

OR

Read the following passage carefully and answer the questions that follow :

“.... the immediate ending of British rule in India is an urgent necessity,
both for the sake of India and for the success of the cause of United Nations .... India,
the classic land of modern imperialism, has become the crux of the question, for by the
freedom of India, will Britain and United Nations be judged, and the people of Asia
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and Africa be filled with hope and enthusiasm. The ending of British rule in this
country is thus a vital and immediate issue on which depends the future of the war
and the success of freedom and democracy.”

(i) Mention the context in which this resolution was passed.

(ii) In what way would the ending of British rule in India further the cause of United
Nations ?

(iii) Explain how Britain could be judged by giving freedom to India, as stated in the
resolution. 2+3+3=8

paikj.k lR;kxzg dc vkSj fdlus izkjaHk fd;k\ Li"V dhft, fd xka/khth us lR;kxzg dk fl)kar

loZizFke dgk¡ fodflr fd;k FkkA paikj.k lR;kxzg dh nks mifC/k;ksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

fuEufyf[kr vuqPNsn dks lko/kkuh ls if<+, vkSj mlds var esa iwNs x, iz'uksa ds mÙkj nhft, %

^^--- Hkkjr esa fczfV'k 'kklu dh lekfIr dh rRdky vko';drk gS & Hkkjr ds fy,

vkSj la;qDr jk"Vª la?k ds mís';ksa d lQyrk ds fy, Hkh --- Hkkjr] tks fd vk/kqfud mifuos'kokn

dk izfrf"Br mnkgj.k gS] bl iz'u dk eeZ cu pqdk gS] D;ksafd Hkkjr dks Lora=krk feyus ds

ckn gh fczVsu vkSj la;qä jk"Vª la?K dks ij[kk tk,xk vkSj ,f'k;k vkSj vÝhdk ds yksx vk'kk

vkSj mRlkg ls Hkj mBsaxsA blfy, bl ns'k esa fczfV'k 'kklu dh lekfIr ,d egÙoiw.kZ vkSj

rkRdkfyd eqík cu x;k gS ftl ij ;q) dk Hkfo"; vkSj Lora=krk rFkk yksdra=k dh lQyrk fuHkZj

gSA**

(i) ml lanHkZ dk mYys[k dhft, ftlesa mä izLrko ikfjr fd;k FkkA

(ii) Hkkjr esa fczfV'k 'kklu dh lekfIr ls la;qä jk"Vª la?k ds mís';ksa dh iwfrZ dSls gks ldrh Fkh\

(iii) mä izLrko ds mYys[k ds vuqlkj Hkkjr dks Lora=krk fn, tkus ls fczVsu dks dSls ij[kk tk

ldrk Fkk\ Li"V dhft,A

12. On the political outline map of India (on page 9) mark and name the following centres
of the freedom movement : 5

(12.1) Lucknow

(12.2) Surat

(12.3) Champaran

(12.4) Dandi

(12.5) Nagpur

OR

On the political outline map of India (on page 9) mark the extent of British empire in
1805, with any two of its important centres.
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HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 9 ij½ ij Lora=krk vkUnksyu ds fuEufyf[kr dsUnzksa dks

vafdr dj muds uke Hkh fyf[k, %

(12.1) y[kuÅ

(12.2) lwjr

(12.3) paikj.k

(12.4) MkaMh

(12.5) ukxiqj

vFkokvFkokvFkokvFkokvFkok

HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 9 ij½ ij 1805 esa fczfV'k lkezkT; dh lhek,¡ mlds fdUgha

nks egÙoiw.kZ dsUnzksa lfgr vafdr dj muds uke fyf[k,A

Note : The following question is only for the Blind Candidates in lieu of Q. No. 12.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy us=kghu fo|kfFkZ;ksa ds fy, iz- la- 12 ds LFkku ij gSA

Mention any five important centres of the freedom movement in India.

OR

Mention the methods adopted by Lord Wellesley to expand the British power in India.

Hkkjr esa Lora=krk vkanksyu ds fdUgha ik¡p egÙoiw.kZ dsUnzksa ds uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr esa vaxzst+ksa ds vf/kdkjksa esa o`f) ds fy, ykWMZ osyst+yh }kjk viuk, x, rjhdksa dk mYys[k

dhft,A

CONTEMPORARY  WORLD  HISTORY

ledkyhu fo'o bfrgklledkyhu fo'o bfrgklledkyhu fo'o bfrgklledkyhu fo'o bfrgklledkyhu fo'o bfrgkl

13. Give two examples to show how Germany had been humiliated at the Paris Peace
Conference. 2

nks mnkgj.k nsdj crkb, fd isfjl 'kkafr lEesyu esa teZuh dks fdl izdkj viekfur fd;k x;k FkkA

14. What was referred to as the ‘Vichy France’ during the Second World War ? 2

f}rh; fo'o ;q) ds nkSjku ^foph Ýkal* fdls dgk tkrk Fkk \

15. Mention any two leading nations of the Non-Aligned Movement. Mention the
Super-power which was supportive of the NAM during the Cold War period. 2

xqV&fujis{k vkanksyu ds fdUgha nks vxz.kh jk"Vªksa ds uke fyf[k,A ml egk'kfä dk uke Hkh

fyf[k, ftlus 'khr ;q) dky esa bl vkanksyu dk leFkZu fd;k FkkA
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16. Mention any two significant findings of the Biological Sciences in the 19th century.             2

OR

Who was the first Asian to get the Nobel Prize in Literature ? Mention any one of his
major works. 2

méhlooha 'krkCnh esa tSo foKkuksa ds {ks=k dh fdUgha nks egÙoiw.kZ miyfC/k;ksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

lkfgR; ds fy, ukscsy iqjLdkj izkIr djus okyk igyk ,f'k;kbZ dkSu Fkk\ mldh izeq[k Ñfr;ksa esa ls
fdlh ,d dk uke fyf[k,A

17. Who was Dostoevsky ? Mention any one of his major works. 2

OR
Mention any two diseases which could be controlled in the Contemporary period.

nkWLrksOLdh dkSu Fkk\ mldh izeq[k Ñfr;ksa esa ls fdlh ,d dk uke fyf[k,A
vFkokvFkokvFkokvFkokvFkok

fdUgha nks ,sls jksxksa dk mYys[k dhft, ftu ij vk/kqfud ;qx esa fu;a=k.k laHko gSA

18. Mention two main features of the Second Industrial Revolution. 2

OR
Mention  any  distinct  feature   of the  Bengal  School   of Art.   Mention  any  one  main
propounder of this school.

f}rh; vkS|ksfxd Økafr dh nks izeq[k fo'ks"krkvksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

dyk dh caxky 'kSyh dh fdlh izeq[k fo'ks"krk dk mYys[k dhft,A bl 'kSyh ds fdlh ,d izeq[k

izLrqrdrkZ dk uke Hkh fyf[k,A

19. Why is it argued that the world got integrated in the Contemporary period ? Explain two
developments in support of this argument. 3+2=5

OR

Explain three main causes for the rise of the USA as an industrial power in the last
quarter of the 19th   century. Give two examples to show this rise.

;g rdZ D;ksa fn;k tkrk gS fd vk/kqfud ;qx esa fo'o ,dhÑr gks x;k gS\ bl rdZ ds leFkZu esa nks
?kVukØeksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

méhloha lnh ds vafre prqFkk±'k ¼ykLV DokVZj½ esa la;qä jkT; vesfjdk ds ,d vkS|ksfxd 'kfä
ds :i esa mHkjus ds rhu izeq[k dkj.kksa dks Li"V dhft,A bl mRFkku dks O;ä djus ds fy, nks
mnkgj.k nhft,A
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20. Why was the Munich Pact signed ? Explain three main consequences of the Pact.        2+3=5

OR

Explain   three   main   features   of   the   Nationalist   Movement   in   Egypt   during   the
inter-World War period. Examine the attitude of the king towards the movement. 3+2=5

E;wfu[k le>kSrs ij D;ksa gLrk{kj fd, x,\ bl le>kSrs ds rhu izeq[k ifj.kkeksa dh O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

nksuksa fo'o ;q)ksa ds chp ds dky esa felz ds jk"Vªoknh vkanksyu dh rhu izeq[k fo'ks"krkvksa dh O;k[;k
dhft,A bl vkanksyu ds izfr jktk ds n`f"Vdks.k dh leh{kk dhft,A

21. Explain three  main  consequences  of the Vietnam War.  Mention two  foreign powers

directly involved in the war. 3+2=5

fo;ruke ;q) ds rhu izeq[k ifj.kkeksa dks Li"V dhft,A bl ;q) esa izR;{k :i ls my>h nks fons'kh
'kfä;ksa ds uke fyf[k,A

22. When did the Second World War really become a ‘global war’ ? Explain any three
incidents which made it so. Explain the impact of the global war on Nazi Germany and
its allies. 1+3+4=8

OR

What was referred to as the USSR in Contemporary history ? Explain its significance

during the Post-World War period. When did the USSR disintegrate ? 2+5+1=8

f}rh; fo'o ;q) oLrqr% dc ^lkoZHkkSfed ;q)* cu x;k\ bls ,slk cukus okyh fdUgha rhu

?kVukvksa dh O;k[;k dhft,A ukft+;ksa dh teZuh vkSj mlds fe=k jk"Vªksa ij bl lkoZHkkSfed

;q) ds izHkko dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

ledkyhu bfrgkl esa ;w-,l-,l-vkj- (USSR) fdls dgk tkrk gS\ fo'o ;q) ds ckn ds

dky esa blds egÙo dks Li"V dhft,A ;w-,l-,l-vkj- dk fo?kVu dc gqvk\

23. On the political outline map of Asia (on page 11), mark and name one colony of the
Dutch and two each of Britain and France in 1914. 5

OR
On the political outline map of Africa (on page 12) mark and name any three countries
which achieved independence in 1960 and any two countries which achieved independence

in 1961.

,f'k;k,f'k;k,f'k;k,f'k;k,f'k;k ds jktuhfrd js[kk&ekufp=k ¼i`"B 11 ij½ ij 1914 esa ,d Mp mifuos'k rFkk fczVsu vkSj Ýkal

ds nks&nks mifuos'kksa dks vafdr dj muds uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

vÝhdkvÝhdkvÝhdkvÝhdkvÝhdk ds jktuhfrd js[kk&ekufp=k ¼i`"B 12 ij½ 1960 esa Lora=krk ikus okys fdUgha rhu ns'kksa rFkk

1961 esa Lora=krk ikus okys fdUgha nks ns'kksa dks vafdr dj muds uke fyf[k,A
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Note : The following question is only for the Blind Candidates in lieu of Q. No. 23.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy us=kghu fo|kfFkZ;ksa ds fy, iz- la- 23 ds LFkku ij gSA

Mention any one Dutch Colony, two colonies of Britain and two of France in Asia in
1914.

OR

Mention three countries which achieved independence in 1960 and two countries which

achieved independence in 1961 in Africa.

,f'k;k esa 1914 esa ,d Mp mifuos'k rFkk fczVsu vkSj Ýkal ds nks&nks mifuos'kksa ds uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

1960 esa Lora=krk ikus okys rhu vÝhdh ns'kksa rFkk 1961 esa Lora=krk ikus okys nks vÝhdh ns'kksa ds

uke fyf[k,A



9 P.T.O.61/1



1061/1



11 P.T.O.61/1


